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And a woman — DI ROIPM R STWIND MWR NIDR TN
will not allow herself be acquired for less than a w1 MW

OVERVIEW

The X7 nx states that the number three in the mwn comes to exclude
(according to X177 27) that a woman cannot be acquired through 19°%n. The
X713 explains that even though we might have expected that a woman should
be 19°5m2 7173, since a 77w can be 1©%%na 7171 (and we derive OwR CWVITR
through a 1oy 77wn AR TP W), nevertheless since 19°%1 can be carried
out 7B MWn NIND2, it cannot apply to Y17, for an IWX will not be X°1pn
owol for a 8"wn mnd. There is a dispute between *"wn and NMdOIN how to
interpret the discussion in this X773,

— PYITPA 1POIN NNN NY 9PV 7aYN NY KIN ININT DIV DIV WD
>'"w1 explained the reason a woman will not be X591 X*1p» for a "wn o 1s
because it is embarrassing for her to do so, therefore the entire concept

of 121 is null as far as P®7°? is concerned.
— 31259 NN A9 2973 AN NVIND MY N3 YWY 3993 1929N)

And even if the 151 11p is performed for the purpose of PP with a
utensil which is worth a 95, it is not a valid w17°p if he gave her the *%5
with the intent that it be 321 nMIN2 7137,

mooIn has difficulties with >"w:
—m1999 MYN MNaa YIPHN 1Y N7 NLVYA )5 ONYT 0N 1299 DYDY

And the n''1 has a difficulty with this explanation, for if it is indeed so that
the reason a woman is not 9"wn Noa NWTIPA is because it is a 7% X7 ORI,
then if she stretched out her hand and accepted less than a "w for 717

' (2"v2) Xo3pn XY "2

25"y (and MPON) mentions *23 because 7771 is to be carried out with a *93 and not with money (or m®
according to 1"7), for the P09 states 1791, which indicates (some sort of) a 93.

3 (3221 1"72) >"wA refers to this 1291 1717 as 770 PIp. The 71pn who receives the 1710 does not transfer the
object to the 7P in exchange for the value of the 770 (since the 71pn [generally] returns the 770 to the
7172). Rather the transfer of the 71710 indicates the commitment of both parties to this transaction. However
by 70> 11p, the money is (partial) payment for the item being acquired. If the item used to actualize the
WP is given as 1971 (a token of commitment) it is not valid 1w17°p. It must be given as payment.

"1 stated that an WX cannot be nwTIPn with 8"wn NINS2 1971 because it is a 72 X177 °R1. However mooin
seems to understand that this is also the reason why an 7w will not be nwTp» with 703 which is 5"wn N,
because it is a 77 X177 °R1. Hence the question that if 77> nows she should be nwTpn with 5"wn nno1a Ho2.
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she should become nwTip2 for less than a 2" since she indicated that it is not
a "R for her.

mooin asks an additional question:
— N3 7299 NY INNIN 19 ON ShY RN INNT DIVN NNAYY S9Nt 1922 I

And furthermore since we explain the reason she is not n¥17pn for a mno
5"wn is because it is 777 8177 9813, then why does not the X723 ask here (since

whenever it is a °X13 for a woman she is not w7, then) -
— 9995 93979 NAPINN TN YVTPN NI 1NMVAIN 1797 INI® 2297 NIMa

the daughters of °X1° '3 who were very particular concerning their status
and would not accept Pe7>p for less than three Pap of 199197, etc. (they
should not become mwmpn for less than three Pap, even if they received more than a

70179). The X713 should have asked this question here -

— SNV 11937 DINTINN (420 47 MPY 79994 9997 %5
Just as the X773 later asked this question concerning the ruling of w''3. The
question of MBOIN is why is X1 "7 "N12 an issue only according to "3, the same issue
should be according to 71"3, if we assume, as "w1 does (according to mdoIn), that the
need for a 5" is because of *X1a.

mMooIn continues challenging >"'wA:
~ "1y 393793 YN 3399 9D NOYN PNYT XPHDT 110 NYP T

And there is an additional difficulty; since now we are assuming to
derive the acquisition of a woman (7°217°?) from the acquisition of fields-

— 17 M5 *Apina 2390 03 NYN J9 BN
If this is indeed so, then a woman should also be acquired with 7117 just
as a field can be acquired with 7P, However there is no mention anywhere (even as a

X"77) that a woman can be acquired with 7P11. The question is why should a woman not
be apIna MIpa?!

> This concept (121 Xa¥w *2n7 112) is (seemingly) obviously the basis for the previous question as well.

6 X771 1 there explained the reason w'"a maintains that a woman is NwTp» only with at least a 737 (and not
with a 7v17D) is because an WX is ¥y HY n79pn and will not be nwTpn for less than a 71°7. The X 13 there
asked if the 77°9p nullifies the 7w17°p then the °X3> 17 7°n12 should not be MwTPA for less than *131>77 *2pAN.
Since *"w1 here maintains that an WX is not 8"W2 M52 NWTPA because it is 77 X177 °X3, then the same issue
arises concerning °X1° "7 N1,

" This is (seemingly) the reason why we initially thought that a woman could be 1°9°%12 171p1. See (also) >"wA
7n 7"72 where he writes "7 77w anm "3 2°n57. This would seem to indicate that 1°9°%1 should be 71 by an
WX since it is 711P by a 77W (any 77w; not necessarily 1179V 717w). (See footnote # 13.)

® The rule is that an "191> 72v can be 7112 7P The 711 consists that the 72y do for his prospective owner
any of the types of work that an 72y is required to do for an owner. It would seem that here too if the
woman would do the services she is required to do for her husband [such as 7un7 NYXT ,0107 DAt or NXMN
1931 17 119] she should be 731 to him 7p1na (according to M®OIN question). Others question this
interpretation for these services are required when she becomes a 1X1 but not when she is an 7017X.
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MooIN continues to ask in a similar manner:
— TV 92050 293 INMY 1931 YOV NN YA (x,n 91 1IPIT TI

And furthermore the X972 later inquires from where do we derive that a
woman is 9w3a 771p3;” so why is there a question, let us derive it from 77w!

. . 10 . ..
Just as a 7Y is W2 73p1 so too is an AWR; for seemingly we are deriving 7wX *°3p from
77w O1Ip as we see by 703 and by oo

In summation Moo asks four questions11 on *"w7’0 that a woman is not N9 NWIPNN
5"wn since it is 77 RI7T ORI
1. If the woman accepted a 5"wn nnd she should be nwmpn!
2. Why did not the X713 ask the question of *X2> 17 77°n12 here as well?!
3. Why should not a woman be 7p112 73p3, just like a 77w ?!
4. We can derive that a woman is w2 73P1 from 7779Y 77W; no other T is
necessary!

moon offers his own interpretation of our X723:
— IZN’)P}Q ND N9 MWYN NI 1PD9)T DN 1%39Y NI 725

Therefore (because of the previous questions) it is the view of the n''= that

the text reads ‘with less than a "' she cannot be acquired’ -
— NNYM NION NTOPA NYT AW D) XY

And the text does not contain the word 'mws1' (which we would mean she
does not let herself to be acquired) for this is not dependent on one’s
proclivity -

— 05 152 29N97 PNI9Y NTYN NP NP 919)T DIYN NNPYL 1391 NON
But rather this is the reason (why there is no 5"wn o2 7PW17°P) because
we derive 702 *W17°p through the "™ of amsp ansp from 5y 77w where

no> is written in the 7710 -
— 2403 59951 KY N1VIND MWYN NN

? The X3 answers there that we derive it from a wp*a of 7n*m XXM just as she leaves with a Jow (meaning
a Vi) she becomes a wife with a q0w.

' One cannot answer (see [7178A] R"wHnn) that the X there is asking 1211 qwwa after we have established
here that Xwo1 X>1pn X7 9"wn No2 (so just as she cannot be 15°212 1P she cannot be VW32 71P1), because
(in addition to the question, if this X720 of 9"wn N prevents us from deriving W from PIOY 77, it
should equally prevent us from deriving 0w from 71n°m 7R¥™ for the same reason, and besides) the concept
of "wn mMnd is inapplicable to 70w, where the 1P has nothing to do with transferring something of value
(but rather with the intangible wording of the 1uw), as opposed to 12°2n where an exchange (of some
material value) is taking place.

' See following footnotes # 17 & 18.

12 According to "w the word is (7MND 7™"Pi7) X*3p» meaning to deliver herself; however according to nooMN
the word reads (72w [1"13m] 7™pm 72170 0"'AT) X°1pn meaning acquired.

B [ perhaps rejects this Xo7%a of X*3pn XY, since "1 maintains that the question was that a woman
should be 1°5°%m2 1711 for we derive WX *1°17 from 77w >°3p; how can we therefore say that 5"wn nIda TWKI
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And less than a ;711D is not called n©3; it is not considered to be money."*

mooIn now explains why the questions (three and four) on *"wA are not difficult according
to N190IN interpretation:
— AYPN RY APIN Y0WA 93 5N RN NDINN NYPNIY NYPNN)

And the questioner in the X711 who asked initially ‘and let us say that it
is indeed so’; that a woman should be 71p1 with 7291, did not entertain

asking concerning 7P WW, that a woman should be 7P T0wa 7Ip3, the wpn

realized that this is unrealistic -
— 1V 9399 Y95 YN MIVYYY NN 139919) NYT NVIVI NNY

For it is obvious that we do not derive from the 7 7P W' to make
the acquisition of a woman similar to all kinds of acquisition that apply by

a field; for a woman is not a field -
— 193 0WA 1PY 19 NOaN 3509

And therefore, since this concept of comparing a woman to a field in an
inclusive sense was never entertained, the X713 later inquires from where
we derive that a woman can be acquired with uw -

— ®nnm 153 29057 XPYT DY KON NTUN0 13590) KT
For we do not derive 7wX °1°1p from 77w °1’I7 only in regards to no2
where the word 7199 is written by 1oy 77w and by '°wx; but not concerning 0w
(7prm) which is not mentioned by (the fr°p of) 1oy 77W.

In summation: N50IN maintains that an 7w is not "w»n MMd2 DWTPNA because it is not
7o, (but not because of ’NJ:&).17 The 7% from 19y 77w is limited to 703 1°Ip only (but
not to any other i:PJ’Jp).18

X°1pn Ko, if the 1°3p is 19°%n why indeed is she not X°3pn (for 19°o1 is 5"wn mmda Anp). If however we
maintain as 90N does that 1°9°%1 is merely 703 1°V2 then it is understood that concerning 703 the rule is that
9"wn N9 XIpn RY for it is not 103, This may explain the connection of NMOMN last two NPWp on *"w7 with
the first two. If we require the reason of 177 X7 °X13, this leads us to believe that initially the question was
that 12> should be 717 as an independent Ip, since 19°21 is one of the 77w *11p, and we derive TR *1Ip
from 77w °11p, hence there are the question of w1 7P, (See footnote # 7.)]

' This explains why according to Mmoo even if 77> 7ows for less than a 5" she is not (703 1"77) NWTPR,
since "wn Mo is not 702. The issue of *X1> "7 71°N12 (which is their 77°5P) is not relevant to our X743, since
we are not discussing 77°9p at all.

15 The (3,3 [77W 1] NPWK12) PI0D writes *In AP 77w 102 NN

1o 7wR WK 1P in X,72 (X¥N) 0™37.

' This answers questions 1 & 2. See footnote # 11.

' This answers questions 3 & 4.
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mooIn replies to the anticipated question; if we can only derive 702 131 from 7179y 77w
then why did the X mx entertain the idea initially that a woman should be 912 n1p3
(since 77w is Po°%n2 1map1) if 1950 PIp is not mentioned by NIDY 77w . MOOIN responds:

— VY9 MY BNl VIV ZON‘VP‘T 19‘]@9 1Y N7 DIYN NON 1P92DNM 7999 XY

And the reason the X273 considered that a woman should be 1°2°n2 711 is
only because 5711 - when its value is a " - is similar to no>, which is

mentioned in the P02, -
—1°9%9N2 NYN NIPNY 23 957 NNIIINI IWIVD 997)

And this is the explanation of the s'®773 question; ‘and let us say indeed it

is so’; that a woman should be ;7371 with 2257 -
— NPT 905 PPy NV NIV 90N DNINA WIYD

provided that these 7°57%17 contain a 5" which makes it similar to the 7°1p
ne> which is mentioned in the P195. There is -

— IR0 MWW TIWOW O IPRT TWIND W 12 WO WWR 1Y
More reason to include 12°711 than there is reason to include a 2uw even if
the "vw is worth a mwp, for it is not necessary that a "vw be worth a

7WIID or even to be worth anything for that matter -

— Haws ANIN SODIN Y 1N (3,591 PO 19IINTD
as the X771 states in 7@ N0, ‘if he wrote a V) on IRT SNV it is a va WS,
Therefore, since we see that by a v or a "vw even if it is worthless from a monetary
standpoint, nevertheless it is a proper W this proves that the 7w 1°1p, even when the 0w
is worth more than a 70179, is not associated with 03.

— 09D 1PN NVIND NIYT PP2YoN YaN

However 7°2°®n when it is a mup 7w is similar to no>, therefore the X3

initially thought that a woman should be acquired through 19911 Ip, since it has
somewhat of a similarity to 702 7°1p.

— VY99 NIYN NN ININN 199N YN

And the X223 responded that 3°2%m 1°17 is valid even when the value of the

19°711 is less that a "'w -

— Y1 9NN 1939 RN 905 DYVN DN 19 ON)
And therefore 3°2°%1 is not associated with no> but it is a separate 1p
from n03, hence a woman cannot be acquired with P2°%n for the 7% of 7°p 7P applies
only to n0>.

' The similarity is that both by 703 and by ("w ona ww) 19°>n the 73p» receives something of value.

0 See “Thinking it over # 1.

2! However 1991 1717 (even though it does not require a 5", nevertheless it) is not valid by 1"mo°X. This
proves that by a “vw the 1P is not made with the physical paper (for by 1"mo X the paper is totally
valueless), but rather with the (intangible) writing of the qvw. By 19°%n1 however the 1°3p is made with the
physical object, which has some value (even if it is "wn nd).

** See ‘Thinking it over’ # 2.
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In summation: M90N maintains that the X", that a woman should be 1°9°%12 73p1, was
based on the (erroneous) assumption that P9°%n is similar and associated with 705 1°3p
(when the 1917 is a 9"w). Hence since an 7wX is 71p1 with 705 she should also be m1p3
19°%12 when it is a "w. The X3 concluded that since there is "wn nmnoa Poom, this
proves that it is separate and distinct from 90> 3P, and an 7w cannot be 192512 N°1p1.

nvoIn asks:
—1°9%9N2 AYN MIPHY PIAY NTYUN 99937 PHYT RPYD 391 99NN ON)

And if you will say; how could we have entertained the thought that we

should derive from 1oy 1772 that a woman should be °2%m2 mapa -
— ©52599 72¥Y 129591 13981 KYT 19959N12 27919 ND N 1999 NTY XM

But even oy 17w itself could not have been acquired through 3°5°%n,

for we do not find the "1 i to be valid by an 2'"12¥. Therefore 1oy
could not have been able to be 73p» his field to 27728 with 19°911 1P, so how could we
have thought that an 7wX could be acquired through 151 when the very source of 1°1p
mwR2 nod, which is NdY 77w, precludes 179771 11p!

mooIn proves that there is no 1°9°%11 13 by an 0™>dy:
— Bnna 993 ©52999 7299 TN INIYITN) (N, 91 5199022 12999N XNHT

For the X3 states in n=192 noon; ‘since a ®X"w° has only one 7°17, so too
an 20y has also only one 9125 which is A3, but not Po%m.

N1B0IN answers:
— NTNA INIYT NIDIT 999NN 935 13997 I W

And one can say; that the meaning of X712 0"V is besides 1°2°91, just as

the X712 YRS means an additional 71p besides P*on -
—0N%NVYa oNY ]’ﬁ’bﬁ)ﬁ 92 VN PP NTNa YNV 9INP 9

And this is what the X3 meant to say; ‘just as a “X2w> has one

additional 1p besides 19291 which is valid for both a 5% v and an 0129, so
too does the 0"y have one additional 1’17 besides 1°2*%m.

mooin offers proof that there is 12°%1 P3P by an 0™oy:
— ©53999 721¥Y 99123 23 (x,n 9M YIPY YNIYN 19

2 The (7,75 [7n2] ®Ipm) PIoo states TNMY 71 3P IR, which the X7n3 there interprets to mean that 0y 71
(which refers to a fellow Jew) you acquire the object through 1>°wn (this is the meaning of 7°» 7P, you
acquire it from his hand, by taking it from him), however if it is not Jn°»¥ but an 2™12¥ you acquire it (not
through 72°wn, but rather) through 7o3. The X713 there asks perhaps by an 0"13¥ you can be anp either with
72°wn or with A0d; to which the Xm3 replies X712 DX w7 (which is [only] 72°wn and not 703) therefore
o"dy is also X712 (meaning 70> and not 715°wn). [The abovementioned explanation is according to the view
of "1 who maintains that a PXW> is Xn»RTA 72°wn2 719p; however according to > that a PXW» is 1P
XN™IRTA MYn3 the 717 is in the opposite direction, that an ™3V is 72 only with 72°wn.]
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And this is also indicated later in the X713 concerning a Jew who was sold

to an 2'"15Y as a slave, where the X3 offers this w17 on the *p109 of -
— 1’9’5"\ 19193 AN D99 ANIAN NN NI23 1PN NIPI 902 INIPN 90N

‘From the money with which he was acquired’; the Jewish slave can be
acquired with money only, but he cannot be acquired with the rulings of
‘grain and utensils’. The X773 there continues; ‘and what is this 771 of
0°701 X120 nIN? It is 198991, A Jewish slave cannot be acquired by a gentile through
1991 1Ip.

— 53915 72)¥Y POINA 19373 B937 INYT 1) YV
It is evident from that X7n3, that a gentile cannot acquire a Jewish slave
through 1°9°211 (because of the vy n of NIPn noon); however other items
may be acquired by an 2"1oy with 1959%n.

Moo draws a halachic conclusion based on this discussion:
— porhna napn N5 ©53999 123y 13 FARYAN MUY BN 19939 D39 15N 19

And indeed it was customary for the n''s to send a nXw-77 through an
2'""2y and he would transfer the rights - this IXw77 conferred to the 7w
(in this case, the 0"2y), through 25v%17 1°1p.

mooIn adds a practical word of caution:
— 215391 NI%IPY 2INY KIY 1015 7098 N1 17910)

24 R1,79 (71772) RIP*1 reads NP 70O NN W 00"

» See the commentaries that 1°5°51 is P by an 0"12y only in a transaction with a »xw>. However there is
no 1°9°71 1Ip between two 2™>3y (for the 7109 states [concerning 1°5°71] that 2RIW°2 0197 NXIY).

% A axwanis a ‘power of attorney’ allowing an outside party (the 7w7m) to act on your behalf (usually) in
monetary matters (to collect a debt, or a deposit, etc.)

*7 In order for the 7iXw"7 to be valid, the initial owner must transfer ownership of the monies to be collected
(or the items that were deposited, etc.) by the 7w, to the mwam. Otherwise the debtor (the 777 or the P51,
etc.) can claim to the 7w ‘I have no dealings with you’, etc. The ownership is transferred through a 11p
19°%1. The 7w (in this case the 0"oY) gives the X2 a 71710 and the %W receives it, and through this
1991 1°1p, the items that were deposited are transferred to the 7w (the 2"9Y).

% This means ‘and we made a 13 (acquired it) from him’. Usually in a transaction where 1'2°71 is utilized it
is not the 717 who actually gives the 7710 to the 71pn; but rather the 07y act on behalf of the 71y (as his
omow) and they give the 7710 to the m3pn (which is considered as if the 7P gave the 970 to the 73pn) and
the 1@ is completed. When this 1°1p is recorded in a vw (for evidence), it is written in the 70w that X1
71, meaning that the 07y testify that indeed they made a 1°1p with the 711 on behalf of the a1y (as his
om>w). However here the 2>7v cannot act on behalf of the 713 (which in this case is the 2"2v), since there
is no 2"3Y? MMow and they also cannot be 71311 the item to the 0™y since there is no 7°31 for an 0"oY.
Therefore the 012y must give the 770 by himself. And in order not to render the nXwan 70w invalid, care
must be taken to write the proper term that 0"™5v77 73p1 (the 0"5y himself preformed the 15°%1), and not
7 R1IP1 (that the 2>7v gave the 7710 on behalf of the 2"15¥) which would render the 7XwA:7 MWW worthless.
[The 1"v has a (slightly) different interpretation of this Moo (see 21 MK *"72).]
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However in this case one must be careful not to write in the XY 0w
the words "51o1%% N1%1pY' -

— (a,xy 91) NINN NAAT [PWIN] 7992 12290NT 022915 12339 191 MNYHY PNT
For there is no nym»w or 11 for an 2"y as the X ) states in the fifth

map of »''3 nJon -
— 1352175 0295 12I¥N NIPI NN

But rather we should write in the Axw"7 70w ‘and the 2Y acquired the
rights’ through a 1951 1Ip.

In summation: There is 12°%1 PIp by an "2y, However he cannot be 1P an ¥"v with
7o°%1. There is no 7°311 MY for an o™MoY.

nooIN asks:
—1°9°9N2 N2IPN RY AYNT 1Y NVIYAYT 1995 19 ON 99NN ON)

And if you will say; if this is indeed so that it is obvious to us that a
woman is not 3°2°912 731 as the X3 concludes here -
— NP GO MNIY (x4, 91119 NP TOIVN ININ
Why therefore is it necessary for the 105 of 1nip» noon to teach us -
— 1’2’5"\ 199907 099 NN NN MPIIPNY
That an 3"y cannot be acquired 2°921 78120 N7 02 which means %91 -
— Prraayh s9ay 13y WPNINT 099 719N
We can derive it in a different manner, since an »"¥ is likened to an nX
9927, Moo mentions where we see this WP -
— U2 NP 293Y TAYT (3,1 91 IPT 135999) NINY
For from this w771 we derive later in the X3 that an ¥''v is 923 maps -
— NINNY ININ NYWIPN Y NP> NINN ON 20599 NUNY IYPIN N9ayM
And an 792w 7R is likened to an AWK as it is written, ‘if he marries
another one (besides the nnX)’; meaning that the o2 likened the nnX
(which is the subject of this p109) to the other one (the other wife he is marrying

in addition to the 7> of the 73aX). This wp>1 teaches us -
— 90V NINN NN 19299915

That we derive, just as nanR (the wife) is acquired with a "W so too is an

772y 7k acquired with a ww. The question is since an ¥"Y is ultimately linked with an
WX (through the mediation of an 71°72v77 7aX) we should derive that just as an WX cannot

¥ The 7m0 writes (2,0 [%1] 0°127) that 7°1297 W 1287 0K 72 7501 *. The wp s of 7nXY 72y in this P09 is
concerning an ?XI2°7 12m17 V"V (not an 2"2y? 017 Y'Y, which we are discussing), nevertheless (see
X"WwAnn), since if a X% 191 is not 1°0°7na P31 the same should apply to a "2y 7on1.

0 1n (°,%d [o*wown] Nww) the 77N writes concerning the Ty of an 73°72v7 71K, that 2 1> NINR oR (the rules
that apply) if he marries an additional woman besides the 7% whom he was 7y>n.
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be acquired with 12°%1 (as the X3 concluded here) so too an ¥"V cannot be acquired
through 1°°%11 (whether his owner is a ?%7%° or an 2">2¥). Why then is the p105 of Ao
nIpn required to exclude 1°9°%1 PIp by an (2™o¥? 15017) ¥'"V.

MDoIN answers:
— 193935 VIYII XY RYIPNM 195993 193537 91297 1Y W
And one can say that a w7 can be utilized to add 2317 but not to

exclude 2°1%1p. Therefore even though there may be a w1 from an ¥"¥ to an WX, but
that wp°i1 cannot be utilized to exclude 1217 by an ¥"¥, just because it is excluded by an
TWR. A WP is meant to be inclusive; not exclusive.

mdoINn proves this point:
— 1093 %3505 AN NN (3,05 97 pom TYAN 93 P93 1999N NIN) INNT

For we find that the X123 says something similar to this in =257 %> a3,

‘there are three words in the 2°p105 concerning 27 -
— *anmvn 11 Pnonn s0ins 1 Zaman spaxy 1n

One excludes o7 from 21 and one excludes 27 from 79°v» and one

excludes 07 from 782, This concludes the X113 in P,
— ARMLN F919N 95N I G99 (4,7 91 Dnan INPY N3 PI93)

However in 2'"2 P25 we derive am: from 1x2m with a "1 of »Y95m 99 -
— ANMIVY TN INMNY TN INIP Y95 Y998 INNAN 19 ON)

So if there is this "1 between 7M1 and 7X™Y why is it necessary to have
two words in the ?109, one to exclude 07 from =01 and one to exclude o7

from 7IR™I; one word would seemingly be sufficient. We can establish the P05 for

either 7M1 or XMW and derive the other one from it through the w"rx of 27911 27911 -
$9NNY NON IPNY NDINT MY NI 9N NIT DIVN IND NIN

31 The (%>, ["I0R] XIP>Y) P09 states R Q77 % D2°NWOI HY 1937 [T Y 002 1NN IR RIT 072 WA Wl 0D
792> w912, The three (underlined) words 1957 ,05% and X171 are considered o°vwn. They exclude o7 from
various 2°10°K.

32 If one drinks the 07 of a 127p after it became 7011 (the time allotted to eat the j27p passed) he is not 211
for eating 7 (only for o7). See *"wA there N2 7"7

3 1f one benefitted from o°wTp 07 he is not 21 a 7Y 1277,

** If one drank 07 while he was xnu he is not liable for XM MO (only for o7 Mo°K). See *"wA there 1"7
ARMIVA.

% The mawn there states that for 0"12¥ *w7p one is not 12w for X»v1 WM [915]. The X »a explains that by
TRMW the 7790 (in 2,20 [7R] RIP*Y) writes concerning a¥MIY that PR *12 *wIpn 11, this excludes w7p
0"y from axmw Mo°R. We derive that there is no 2 17 by ™oy *w7p through a w"1x of 719°1 7191 from
ANMY.

% It says 912n by mxmv (in the abovementioned 105 which states "3 1951 891 *"32 *wTpn 1M it is also
written (17 ,0° [2*¥17p] XP°1) concerning 701 that 9911 71 WP DR 2.
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However, is not the reason that one 109 is insufficient because the w''ta

byssm bY9om was not said to be lenient,” but rather to be strict. Therefore if
we would know that there is no x%»0 21°17 (or IN11) by 2">Y *w7P we could not derive that
we should be equally lenient by m1 (or AXm), for the w"m is to be used in a strict
manner. The same applies here that the wpn of 72y to AWK is limited to the purpose of
adding 2°1p, not reducing 2°13p. Therefore a special T°% of InIpn noOM is required to
exclude 12912 72V 7°3p.

In summation: There is a wp*77 from 7WX to 7°72v7 78 and also from 77°72v5 7AR to 72y
»72v. However, this wp°i is to be used to teach additional 0°1°1p, but not to limit the D°1°1p
(like 7°9°%n for instance).

SUMMARY

According to (m»d01n understanding of) "wA; the X3 initially thought that
an 7w should be 1"9°%12 73p1 for we derive WX °1°3p from 77w °1°3p. The 803
concluded however, that since 197911 is valid even 2"wn no2 and it is a X
for a woman to be 771p» herself for a VD MWwWH Mo, therefore there can be
no 1°9°711 Ip at all for PwI7°p.

Mmoo, however, maintains that even initially the X723 thought that an TwxX
can be 11p1 with 1°9°%11 because it is similar to 93. There was never a X"
that we derive WX °1°1p from 770 °1°1p. The X i concluded that since 7°9°%m
is valid "wn o1 and a woman cannot be acquired with noa 703 7Ip
p"wn, for it is not considered N0, therefore this proves that 19%%n PIp is
separate from n02 117 and is invalid by WX W 7.

There is 1°0°%17 1P by 2"ov. A wpoi (or w"m) is (usually) used to include
0°1°1p (or 0°1°7), but not to exclude.

THINKING IT OVER

1.moon explains that the reason the X723 initially thought that an 7w should
be 1"9°%m2 m1p1 is because 19°5m is 70 Pwa.”® If this is so why was it necessary
for the X713 to cite the w"ra of MdY 77wn AP AR, if in the 8™ we assumed
that A3 is P91 Pya, then if A03 is AP so too should 12°%1 be 1P’

37 The initial w"1 of M1 21 was transmitted P> for we derive from that w"1 that there is no MoX of
M1 by 0"y WP (just as there is no MO°X of AXMY by 2"y *w7p). However m»soin seemingly means that
we cannot apply this w"1 for additional 2>717°2 which are %pn%. Any additional 7°% must be a5,

* See footnote # 20.

¥ See m Mx >,
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2. According to m»on the conclusion of the X n3 is that 19°217 is not part of
nod PIP since d"wn MDA YK 1oon. Why then did the X723 have to
conclude X°1pn X2 5"wn mnon nwr1? If 1o°%1 is not 705 then obviously an 7wR
cannot be Poma mpa!Y!

3. Can a PYYTp 70w be written on 7R3 M I0°R?*

40 See footnote # 22.
4o ow 1.
42 See 7"nx footnote # 146-7
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